38LA-61

A
SECTION - A
Analytical Ability
Questions : 75 Marks : 75
Piyes :75 ) w75
(i) Data Sufficiency ' (Marks : 20)

Sgrod ’.’)U‘ggé

Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a)
(b)
~{c)

(d)

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement Il alone is sufficient to answer the question.

Mark choice (3) if both the statements I and 11 are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and Il together are not sufficient to
answer the question and additional data is required.

mSh 1 1 08 20 H8% a0 (B B o8 (B, oD Bod LT o Hdhes
o Tod (Dodares Segrodorr G W, aVIR S8°0FY) GwarNow,
2N [@DOdres PHS Virerard) ad)odd dogrw eHear Tor
6 DB 0o, & JIgEnD (808 WS Wrlerw GRANOW
(1) 0d (4) HBH V0 ward 2arewd o Waodod.

(a)

(b)

(¢)

(d)

@H% Vhrgrno ai)od® @Hto [ r@d Doghband & o
(1) = H8oNodk.

PHD Borardo adyodhd @DEDo I (& ‘éms‘gboné ob 22D
(2) r HOoT0G

@S Thrawvo atyodd Dhdare I, 1T ol Dorghbay ©ohEt @
2.8 Erae Dorgo SE'E D aavew (3) e hBotod.

[BHH Worervo av)omd [DhSores I, 1 o Srar Dogho st
©SHY) Sero%o eBHEHoE W 2are (4) e Hlosod
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What is the 100" term of a sequence ?
2.8 wDEDoS® 100 H Do dod ?

L. The sequence is an Arithmetic Progression.
© BVED0 vo¥ (7§

II.  The first term of the sequence is 5.
@ (ED0 I VKo S,

Can we find the quadratic equatior; at+bx+c=07? .
5 DbEBes0 ax? +bx + ¢ =0 D AgrOoBKLD® ?

I The sum of the roots is given.
wrory Eo aRVEoD.

1. The difference of the roots 1s given.
wrory P50 aidod.
Do the two circles with their centres at A and B and having radii r; and r, intersect ?
A, B w Sojagrear 1y, T, 0 Sgdrgreor o ot H)eres podothbotrals ?
I Distance between A and B is “a’ units.
A Be :’még o380 ‘a’ CleOeY.
I |r-n|<a<r +r,
Are two triangles similar ?
Sodh |8zbaren VEPD (B ?
5 They are equilateral.
o V8’n (Beberes.
II.  Their areas are equal.
S ST UL DRIERO.
What is the arca of a regular hexagon ?
28 (82 22 STogo ood ? _
L A circle of radius ‘a’ units is inscribed in the hexagon.
2’ Al argrgo o D)Eo ‘o’ad)t)e:!é‘ ®080PoTE0B.
II.  Each side of the hexagon subtends an angle of 60° at the centre of the circle.
Qe (@8 ghazo D)E Soio v 60° Emo Upod.
What is the value of log, ,x ?
log,ox eod o ?
. x>3
I log,ox +log,,(x~3) =1
Is ABCD a cyclic quadrilateral ?
ABCD 2.8 $|8ab Sy ?

I.  The lengths of the diagonals are given.
VETL UYL BRZGTD.
[I. A circle with mid point of a diagonal as centre passes through the vertices.
28 Do g Do Soorr 0o Hydo Treaid BT e thoa® Fhod,

3 P.T.O.
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What is the angle subtended by the chord AB of a circle at a point P on the circumference ?
28 H)dod” AB 603 avg D) DOOD P’ o3 Do DE TD Do ?

10.

11.

12.

13.

14.

E The radius of the circle is 5 cm.
)Y Sgdgo 5 20.0D.

Il.  The length of the chord AB is 5 cm.
g AB &Y 5 0.0,

What is the value of 119x + 247y ?
119x + 247y Jeod o ?

. 118x+ 246y = 482

Il.  xis greater than y by 2
y Q) x B3I 2 JEY D,

What is the percentage of profit on the sale of 50 books ?
50 Yuse winEop HR) oy o dod ?
I.  The cost price of each book is ¥ 100.
(08 YBo §'x) Su & 100.
1.  The sale price of each book is T 125.
(28 VB0 ey o Ju . 125.

What is the value of n ?
n e odoes ?

L P+22+3+ ... +0°=225
II.  nisapositive integer
n 2.8 ST S Yrorosw
What is the day of 31" December of an year ?
2.5 LoHd 80 ot 315 E8 o Sr¥o BPYHod ?

L. In that year the first of March was Monday.
& odSYo ) e db Jhardo.

I1.  That year was a leap year.

o Vodd 8o &Y VodsyKo.
What is the Arithmetic Mean of the numbers x, y, zand t ?
X, Y5 2, 1O BOE DLW oJ0& ?

. x+2y-z-3t=K
. 2x+y+4z+6t=L

What is the equation of a straight line ?
2.5 V8¢ T LDESmo o ?

"I.  The line is parallel to 2x + 3y = 5.

© By 2x + 3y =5 & J&roddo.

II.  The line does not pass through the origin.
u T Swredodd) hoae .
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15. What is the value of 82° + b® - 27¢% 2
8a’ + b —27¢ Deod o ?

l. abc =k
I. 2a+b=3c

16. What is the distance between two ships ?
Soth L g Srddod ?

I Seen from the top of a mountain their angles of depression are 60° and 30°.
DU BPT0 Wod WrHYh ¢ Ry 5% e 60°, 30°.

Il.  Height of the mountain is 60 metres.
‘é)dséo b 60 b)é.)ga.

17. Is (x — a) a factor of the polynomial f(x) ?
fix) 2500808 (x - a) s*Serclir ?

L fla) #0
II.  The sum of the coefficients of f(x) is constant.
f(x) thes o véo ;.)o'ogo.

18.  What is the simple interest eamed yearly on a deposit in a bank ?
2.8 2°g0% Aara2d DS S Fodem G oEH o ?

I.  The amount deposited is T 10,000.
Gar2d TS o &~ 10,000,

II.  The rate of interest is 8%.

oG T 8%.
19. What is the surface area of a sphere ?
2.8 A'go Hvde JTego Jod ?
I.  The sphere is made of iron.
o Ao aind® Javadod.
II.  The radius of the sphere is given.
&¢o TG0 aRwEod.

20. What is the value of x* + y* ifxy =12
xy=1owd x*+y! Desd dod ?

. x+y=5
. x>0,y>0

P.T.O.
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(Marks : 55)

(Marks : 25)

A
(ii) Problem Solving
ms SR
(a) Sequences and Series
Note : In each of the questions numbered 21 to 30 a sequence of numbers and letters that
follow a definite pattern is given. Each question has a blank space. This blank space
is to be filled by the correct answer from one of the four given options to completc
the sequence without breaking the pattern.
IS : [@D%)eo 21 oG 30 DEH Hy (18 DHEE alyd & Dowges MR, wEores MR
28 (SudRD Jabhrd) ST, (08 (RHS W &%) 9O 2O Irentd
PUYSY ol WO owd 2ows ebEh Jobirdd Yoo Sohoar
Prooiod.
21. 122:145::257: 1
(&7 290 (2) 299
(3) 401 (4) 497
22. 1001:1332:: :2198
(1) 1728 (2) 1729
(3) 2413 (4) 2526
23. ABCD:ZYXW:: : VTUS
(1) EFHG (2) EHGF
(3) EGFH (4) EFGH
24. Tiger: Goat :: : Herbivore
DO DY : TS0
(¥ Camivore (2) Omnivore
QOO & 2fabei0
(3) Parasite (4) Insectivore
Do) 26y, Lo5°550
25. Quadrilateral : Square : : Triangle :
iSéJd:an : BebS[v0 : 1 (Bgho ¢
(1) Equilateral triangle (2Y Isosceles triangle
e (8zb2o VAR (Bgheo
(3) Scalene triangle (4) Right-angled triangle
Jixver i (Bgbezo wows’m (8gheo
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26.

27.

Wood : Chair:: __ : Omament
50‘4):5350::_:}'06
(1) Coal

1

(3) Hammer
e

: Ghee
: Bo»g

Ice: Water::
SRR S
(1) Milk

e

(3) Butter

g,

+
28, ﬂnz—u:Zn::_" : ¥n?

29.

30.

nzgn-l)2
@) =3

3J n(n — 1)6(2n - 1)

(277 Gold

pomrdo

(4) Bauxite
AT

(2) Curd
PllaiTe)

@ 0il
PR

2/" n’(n + 1)
@ el

@) n(n + 1)6(2!\ +1)

ABCDEFG : STUV)’(Y% :: GECA :

(W~ ZXUS
(3) ZSXU

(2) ZXSU
(4) ZSUX

Volume of a cylinder : Area of curved surface of the cylinder : : nr’h : |

D0 0 DOEPE0 : o BbySe Srego i i arh :

(1) mnrh
2
(37" Farh

(2) 2nrh
(4) ';'nrzh _

7

P.T.O.
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Note : In questions 31 to 35 pick the odd thing out :
WS 1 (W 31 Dod 35 DIDH VOB HOoBos.

3. (Y sin’x + cos°x (2) sec’x — tan“x (3) tan®x + cot®x (4) cosecx — cot’x
32. (1) Eagle (2) Vulture (3) Owl 4y" Crow
(& oyrilelat) & ior s=8
33. (1) ABYZ (2) CDWX (3) EFUV (4 GHTS
4. (1) ¥-4=0 (2 ¥-3=0 (3) £-2=0 4 ¥©-1=0
35. (1) (5,6,11) (2) (6,7,13) (3) (7,8,15) (4’)/ (8,9, 19)
Note : Each of the questions from 36 to 45 follow a definite pattemn. Observe the same and

fill in the blanks with suitable answers.
o8 1 36 od 45 D% Ko [%E)e0 2.8 ROEID Qabrd) ST, ¢ Qo

000 LOE@S Wargrared’ ardad Ypdotod.

4. 123110317 37
© §5¥10%417926°——'50
26 36 o O 36
( (2) 37 (3) 50 (4) 49
37. 6 12,..0.30, .56 .
1y 50 (2) 48 (3) 44 @ 42
1 8 27 125 216
8. 5 00— 26" 37
36 64 81
39. 4,1,9,3,16,6,25, 10, 36,
(1) 15 (2) 20 (3) 25 4) 30
40. 1, 4,27, 256,
1y 625 3152 (3) 1024 (@) 3125
4. a2 l -
« 1,216 24 790 5040
1 1 |
M Too (2) ,20 G 73 @ 330
42, 4,7,12,19,28, 52
(1) 39 (2) 40 (3) 41 4) 42
43. 1x8,3v06, 514,
(1) 7r3 T (@) 7r2 (3) 7v2 4 7v3
44, 1,2,3'57813721.
(1) 24 & 26 (3) 29 (4) 34
45. 5,6,10,19,35,60,
(1) 85 2) 92 (3) 96 (4) 105
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(b) Data Analysis (Marks : 10)

46.

47.

48.

The following table gives the details of the 5 commodities A, B, C, D, E required, with
their costs, for a family in 2 month.

Study the table and answer the questions from 46 to 48.
28 Hwoerdd Jud VWONGE® 5 WhHew A, B, C, D, E Jhores, o8 0, (308
DBES® 2iREDD '

D355 LORBOD 46 ©od 48 [HH e Tarere iR,

Quantity Rate/kg in T
Commodity required/month (in kg) 8S* &8 (St
FTeS1:3 B SHUID VOO Year 1990 Year 1995
& & DobSYE0 1990 | Lobyso 1995
A 10 70 100 §
B 15 40 45
s 8 35 40
D 25 50 60
E 5 58 62

The total amount (in ¥) spent on all the 5 commodities by the family in 1990 is
1990 20D B0 6 5 VHBHLD @ Hivowo TV o p& (Eradd?)

o 253 2) 315

(3) 302 (4) 312

The percentage of increase (per kg) in the rate of the commodity E from 1990 to 1995 is
1990 0o& 1995 HEH WHSH E S8S° whidiSe mdo (8E" 2.8) 088

(1) 203% 2y 6.89 %
(3) 345% 4) 17.8%

The amount (in ¥) spent extra on commodities B and C in the year 1995 than in the year
1990 is

ODSYB0 1990 ST 1995 VoHSYB0S* VHHes B, C v JEpdme pdyy TS Ddo
(EradS®)
() 115 (2) 230
(3) 260 @180
9 P.T.O.



49.

50.

51

52.

S3.
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The amounts spent by a person under various heads in a month is given in the following
Pie Chart. Based on this information answer the following questions from 49 to 53

a8 Hg8 ot WG dho (8ol DS piv Wwdo (8cd DOOE® aiRuaATD. S
Lhrardo wardon® 49 208 53 DD o RHUS vargrardngod.

If the monthly income of the person is ¥ 54,000, then the difference between the amounts
spent on travel and food per month (in ¥) is
S%0 S0 . 54,000 Bod B0, Roireon DD pd)e P50 (Srdabd®)

(1 21,600 (2) 16,200 (3) 6,000 (4) 12,000

If the amounts spent on savings and children education put together is T 22,000, then the
monthly income of the person (in X) is
Dov WHY TEPUP o wiy . 22,000 vd o Hg8 JV0 earddo

(ErSradS®)
(1) 75,000 (2) 66,000 (3) 72,000 (‘?)/ 36,000

The amount spent on children education is equal to the amounts spent on which of the
following two heads ?
Do SEPP Hd pi) (808 TEE* J TodotTy Iwdo P warNo ?

(1) Entertainment and miscellancous (2) Travel and miscellaneous

SFGB0, adBwvw L0500, addtnew
(3) Savings and travel ( Savings and entertainment
AR, (a0 ), 'S0

If the amount spent on house rent in a month is ¥ 5,000 more than the amount spent on
travel and savings put together, then the monthly income (in ¥) of the person is

[batremo, S Sodody Iwdo &) S5m) @08 TP & 5,000 R WY SR
& IO warabo (Eradd’)

(v 25,000 (2) 90,000 (3) 1,00,000 (4) 45,000

Monthly savings percentage is
JD0 JHY Té0

|
(1) 13%% Q) 13%% (37/133% @) 14%
10
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SS.

()

57.

S8.

59.

In a group of 75 students 28 students study Mathematics (M), 32 study Physics (P), 30
study Chemistry (C) and 15 students study none of these; 13 study both M and P, 12 study
P and C and 10 study C and M. Based on this information answer the questions 54 and SS.

75 208 dargdHP’ 28 thidh Hederd) (M), 32 oo T8 T 9) (P), 30 00 S abd
war9a) (C) SoHerd s 15 Dod DBST I WEED. 13 Dod M, P; 12 Hod
P, C; 10 208 dargdhes C, M VR SHYEH. S VIrwrdo ugrdon™ 54, 55 (DU
VargrarOagod.

The number of students who study only Chemistry is

Evabh TR W (ED SOI emgde Howg

(1) 13 (2) 14 (3) 15 (4)/16

The number of students who study Physics alone is

F°BE TR0 WrED STa) Dergdhe Lowg

1) 10 & 13 3) 12 @ 15

Coding and Decoding Problems (Marks : 10)
The letters of English alphabet are arranged cyclically. Then the letters are coded as
follows : (i) a vowel is to be coded as the second vowel after it in the clockwise direction.
and (ii) a consonant is to be coded as the second consonant after it in the clockwise
direction. For decoding, the inverse process is to be followed. Based on this coding and
decoding system answer the questions from 56 to 60.

woif Hare &%) wEora H(8abor eho)0. v (Bod Ao §E DabudRd.

(1) 28 oo, Vb B%S*, oo Soved Tod' Wiy 88 Sahaddd.

2) 28 dresd, DHg O3S, o dovgd 3ol Hrw®d 56 Johwddn. AE°Goh
Fabag IS DB WO TO. & §*aoh, 85°Q0h uordorr 56 Rod&
60 H3H deo (DHODH Vargrarlagod.

Code word for HAND is
HAND % §%G 280

(1) KIQH (2)/ KIQF " (3) KIPG (4) KIQG

The word that is coded as RIUT is
RIUT i~ §°8& Jabadd D

(1) PAIR (2) PAIW (3) PAAR (4) PUIR
The word that is coded as RNIVO is

RNIVO rr 5°8 Jobeodd DS

(1) TLATE (2) PLATA (3) PLASE (4) TQUXA

The code word for LEAVE is
LEAVE % §°& OS5

(1) NOIXO (2) NOIXU @y~ JUOTO (4) JUOTU
The word that is coded as QUEUE is

QUEUE r~ & Jabdd Heaw

(1) NIOIO (2) SEOEO (3) NIUIU (4) SIOIO

11 P.T.O.



61.

62.

63.

(d)
66.

67.

69.

\\,

38LA-61
¢

If the word COMPUTER is coded as RFUVQNPC, the code word for MEDICINE is
COMPUTER Ha08 &8 Lo RFUVQNPC scnd MEDICINE £ §°G 0¢5iw

(1) EOJDJEFM (2.”EMIDJFEM (3) EOKDKFEM  (4) EOLDLFEM

If the word DWUKPGUU is coded as BUSINESS, the word MANAGEMENT is coded as
DWUKPGUU % &8 Ux$aw BUSINESS sand MANAGEMENT & §°6 OdSdw

(1) KZLZECKCLR (2) KXLXECKCLR
(3) KYLYECKCLR (4) KYLYEDKDLR

If the word CENTRAL is coded as LARTNEC then the code word for SEMINAR is
CENTRAL Har08 88 1¢5&w LARTNEC wovd SEMINAR & §°G D5iw

(1) RINAMES (2) RANMIES (3) RAMNIES (4) RANIMES
If the word FLUTE is coded as EJRPZ, then the code word of PLANE is

FLUTE % &8 354 EJRPZ savé PLANE % §°6 HdSdw

(1) OJXIZ (2) OJXKZ (3) OIJXLZ (4) OJXLA

If the code word for VICTORY is XKEVQTA then the code word for SUCCESS is
VICTORY & £°8 %284 XKEVQTA son@ SUCCESS % §°G 0w

(1) UWEEGUU (2) VXFFHVV (3) UWEEGVV (4) UWEEHUU

Date, Time & Arrangement Problems (Marks : 10)
If the first day of March in a year happens to be Friday, then the day on which Indian

Independence day falls in that year is
2 VoSSYB0SW &0 Su W& T BETdo vwd ¢ DobhdBodt s

Fre808920%0 o) &
(1) Monday (2/ Tuesday (3) Thursday (4) Saturday
dtHardo wolFardo HSHa80 %0580

If a clock shows 15 minutes past 3 O’clock then the angle between the hours and minutes
hands 1s
2% K&air8o 3 Ho. 15 Q. mwalwogpoé Hoby, WP WLOU ‘o’:ot;Sg &0

1) 20° @) 30° a3y 40° @) 7.5°

If the minutes hand of a clock is facing South, then the direction of the minutes hand after
210 minutes is '

¥ (A0St Jwdre toe $ER0 S WrOipod, 210 Jware $HTE S

é»goirboﬁ &% .
(1) North (2) East (3) West (& South-West
a880 &y AT Yo e 3%

A is the mother of B and é\) is the husband of C. Then A is related to D as
B,Co o A CHPED. oD D & A (800 Louog ) 580 dowod.

(L~ Mother-in-law (2) Mother
wdmd cséal
(3) Daughter-in-law (4) Father-in-law

§'%en R tgyled)

12
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70.

71.

72.

73.

74.

75.

Four buses B,, B,, By, B, depart from the station S, and arrive the stations S, and S;. The

bus numbers and the order in which they depart or arrive is not the same. The first bus to
leave S, is the second to reach S, and the third to reach S,. The first bus to reach S, is the

second bus to leave S, and the last bus to reach Sz.

Based on this information answer the following questions 70 and 71 :
Freatd 2iyes By, B,, By, B, S) wod 20HesdB S,, S; WS DhHosrow. W)U

Sowd md), ©d wubedth Sa THHI Wndirw 248 599 S, ol wabesdd IS
22y 630 Sy » IHHI >a’ BoE'D, S, B DHHI >8S* Lrdd WYH0D.
S, D THEI WSS winy 630 S, Lo wabesdd FH8S* Fod’s, S, & THLHI
T8S DH0L B od.

& Darordo sgrdonr (Sod 70, 71 LY regrarOaod.

The first bus to reach the station S, is
S, & DHHI oIS Wy

() B, 2B, 3) B, 4 B,
The second bus to reach the station S, is

Vi S, DHHI To&' W)

W~ B, (2) B, 3) B, (4) B,

In a queue, Anitha is the 10" from the front while Meena is 25" from the last and Mohan
is just in the middle of the two. If there are 50 persons in the queue, the position of Mohan
from the front is

2.5 HHLS® twodh wod 10D Q‘tboé" oS, SwE wod 25 W Q"&oé‘ DT God

DO VO DOLO WGH IrirS admd. DOV Iwgo 50 Wb HeHeood wwold
Wo& Frdre GE) FN0

(1y 20" 2) 19" (3) 18" (4)/ i
[fasb=a+b+abfora b e Q then the value of x satisfying (1 * 2) » x = - 131s

abeQeo asb=a+b+aboawd (1+2)»x=-13D &)%) 20T x Jeod

(1 1 2) -3
(3) 2 @4 -2
b 1 +l=:»2(£3 (n+1
b= * -
a ab 2z ns(n+1)
) s S, - -
(1) 2013 3013 (2) 2014 3014 3) 3014 (4) 2013 3014

Ifaxb=a+b- %V a, b € R and if ¢ is a non-zero real number, then the value of
x satisfying x « ¢ =x 18

ab
o) a,b e RO a-b=a+b—-2-sc>b'3§éda°‘_’.gt>‘{oomgeo»3 xec=xw &)
DS x DD
(n 1 (2) 2 (3 3 4) 5

13 P.T.O.
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SECTION - B
Mathematical Ability
i3S é'é;ggé
Questions : 75 Marks : 75
dyeo : 75 Syt 75
(i) Arithmetical Ability (Marks : 35)
8. 2N*-6° . B
76. lf(36)2‘94‘(18)2-2 -3,thena+B—
8.27)*.6° P v &
G619 (18] 203, wand, ey a+p=
(1 -7 (2) -8 3) 9 4) 8
77. The smallest number among
4,37, 5,3 is
4,7, 45,43 o 834 Dowg
m @ 37 3 45 @ 3
78. If(at+b):(b+c):(c+a)=2:3:4anda+b+c=09,then the value of ¢ =
(a+b):(b+c):(c+a)==2:3:4’&»00’5»3*b+c=990»3, SV Y& ¢ GEY,
Deod =
(1 3 (2) 1 3) 9 4 s
79. A circle and a square have the same area. Then the ratio of the side of the square to the
radius of the circle is
2.8 Hydcn DO 28 SHOP 28 Jrorgd) 80 saman. ey & Do
gher 08, © DYEo g CRIND &g fu Jand
(1) =m:1 2) 1:x (3) \r:i @) 1:[n
80. \J6+202+2\3+ 26 ~
(M) 1+2+46 @ 1+2+33 3) 2+\3+2 (@) 2+3++f6
o (G2, B
VARG
(1) 196 (2) 28 (3) 435 (4) 144
82. The number that is exactly divisible by 11 among the following is

&: BIKSS ad)d Vowgudt 11 3 poysone P AoRwG Vowg
(1) 9999999 (2) 88888 (3) 1873410 &y~ 2345432
o\ vl 14 PR i
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83.

85.

86.

87.

88.

The remainder when

73 x 79 x 81

is divided by 11 1s

73 79 % 81 Q 11 B grAgURpch DY Fasdw

(n 1 (B 5 3) 7 4 9

The greatest 4-digited number which is exactly divisible by each of the numbers 18, 24
and 36 is
18, 24, 36 .ooa;gm’.ﬁ (28w B pySorr 2PAOVRGE FTredld BoSY ‘oowgoé" Ll

‘boapg |
(1) 1008 (2) 9999 (3)/9972 (4) 9936

If the l.c.m. of the positive integers a and b is 60 and a® - b* = 32400, then the g.c.d. of
aandbis

Bod e Vowges awOAL b & € 325 60 0k a? - b? = 32400 sad, vV P
aD0a b v avE), e
(1) 30 (2) 18 (3) 3 4 9

lfl.r - 6| =5 and |3y— 12| = 6, then the maximum value of f;-
|x - 6] = 5 8000 |3y - 12| = 6 s, sy T A%, H0G Deod

11 11
(1) 6 @ 2 3 & @ %5

If 3 is added to the denominator of a rational number then that number becomes % and if 4

; ) / 3 :
is added to numerator of the same rational number, then it becomes > then that rational
number is

28 w¥dciab Dowg GhE), Fo8 3 K008 By © Vowg %’ oHH0d. DO «d

o ESead Vowg W), wars 4 $00d ©d %s@é)o&. Wy @ o ESaod Lowg

4. 3 5
M 3 @ 3 ® > @ =
The difference between the biggest and smallest fractions among
15,54
2695"
';',% 'Z; goé‘ 503 0o SR P{yave WY B0
5 3 1
W3 @ 13 3 1o @ 3

15 P.T.O.



89.

90.

91.

92.
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The ascending order of the rational numbers
13 11,15 8+

~2\ )

14 12°16' 11 %

13 11 15 8 . 3
1161 s ¥Scdad Lopge AWE) uflrem (So
§ 13 15 11 S 13 11 15
(1) 1151316~ 12 ) TT<1a<12°76
8§ 11 13 15 1311 15 8
@ T<12°14<16 @ F<12<16"M

If 7% of 5% of 8% of x is 105, then x =
x O, 8% &, 5% 8 7% e 105 cso»:%‘bo)é) X=

(1) 375 2y 3750 (3) 37500

If the length and breadth of a rectangle are increased Ly 20% each, then the arca of the
rectangle increases by x%, then x =

28 BY Bdo Gy Fds) WOk 3seoyud® 28 o 20 TS0 o8, u 8%
Sehdvo ITego x % DO, YV PE x DD
(W 20 & 120 (3) 44

An article when sold at a gain of 5% yiclds rupees 15 more than when it is sold at a loss of
5%. Then the cost price of that article in rupees is

2.8 EHR 5% €28 elTD, TV 3% AFOS wapRarD S0B8 15 Grarabes
D Akpol. winpd v SPY §'F) p0D. &r.od®
(W 75 (2) 100 (3) 150

(4) 375000

4) 144

(4) 200

By selling 15 items, a seller recovers the cost price of 20 items. Then his profit percent is
15 S vindo ogor w8 Ssracd® 20 Srpo TR S Tuded.

SR P& 88 o do

oy 33 :

355

(1 (3) 20 (4)

A. B, C entered into a business with a total capital of ¥ 50,000/-. A invested T 4,000/~
more than B and B invested ¥ 5,000/- more than C. If there is a total profit of ¥ 35,000/~
then A’s share in the profit, in rupees is

A, B, C o 3o twreddo &r. 50,000 o 2% 5'53"606‘3 [@SBowrd B £08 A
br. 4,000 > D iyed V. C SoB B &r. 5,000 b wPpedd Verd.
08 HVY® Ao orglo &, 35,000 wond, evfod® A GbE), aver, Sraraded’
(1) 8,400 @) 11,900 (37 14,700 (4) 15,000

16
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95.

96.

97.

98.

A, B and C are running a business by investing the capitals in the ratio 2 : 4 : 5. If C’s
share in the profit is ¥ 2,200/-, then A's share in the profit, in rupees, is

A, BDoa C w ¥ argdrord), Divadhe NS 2:4: 5 & Wbddhaomd. orgfod”
C arér 8. 2.200 o8, oy oogfod® A DY) e, Srarabed’
(1) 400 Y 800 (3) 840 (4) 880

Two pipes A and B can fill a tank independently in 20 and 30 minutes respectively. Both
the pipes are opened simultaneously and after 6 minutes tap B is closed. Then the total
time taken, in minutes, to fill the tank;, is (assume that the tank is cmpty initially)

A 20k B o3 Tokh PP AWEM HEH 20 Hoak 30 AMwdud® 28 FJTL
Dodhiiedy Bodb WuH € SLodt BOD, 6 Ko EHTE 1YY B D SrdddS
YD @ T J0La8 1Y Ivdiw Vivado, care st

([Brdogfos® &8 w0 Gols'od).

(1) 10 @) 15 @ 16 @ 12

Tap A can fill an empty tank in one hour, while a drain pipe B can empty that full tank in
6 hours. If both A and B are opened at the same instant, the total time taken to fill that
empty tank, in hours, is

Seron Al 90 8T w8 KobS® JoYHod. 2.8 grd TV Y B Lrom oS ¢
ET 6 Hokes® wrd Tpod. A Loak B U 30808 28 stwod® (28 0) 80,
O &9) v FFTD J00GR8 F Wrahe (Hobed®)

5 3 2 6
n z @ 3 '3 @ 3

A train travels a distance of 60 km in 40 minutes. If its velocity is decreased by
15 km/hour, then the time required by that train to travel the same distance, in minutes, is

2% Sw w08 60 8S° LY &rovd) 40 Jwdrud® Dofrdwod. ool SRy Hobs
15 8S°d% 80N, ¢ Jwwold o &rovd) (RAfreo Jabaedd sPHolid Uddbo
SRwRrud®, :

R
(1) 45 (2) 60 (3) 54 (4/ 48 '

A person travels from A to B at a speed of 75 kin/hour in a car and returns from B 10 A by
reducing his speed by 15 km/hour. If the total time taken is 3 hours, then the distance
between A and B, in Kilometers, 1s

28 Bg8 o¥ sohE® A Wwod B § Hob® 75 3" HE o [hatrwo T, vE
350&° Hobd 15 8BS DY THPS SNow, B 2o A & 800 Hoyh. 088 NS
Ao 570 3 Hodes wand, A HO B o g WY drdo, 8S OIS

(1) 100 (& 80 &y 120 4) 160
17 P.T.O.
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Two persons A, B can together complete a piece of work in 12 days, B and C together
complete the same work in 8 days. If A, B, C work together, then that work can be
finished in 6 days. Then the number of days B alone can finish the same work is

A, B & 288r 582 2.8 D 12 &g’ Yrg 9. B, C w addr 500 oF HAD

8 8¢’ g S A, B, C w e $00 W TFY © LA 6 S Lro
Dabiedd. B 25,8 DA Yro Sabes VF e Dowg
(1 16 18 (3) 24 (4) 30

A, B, C can individually complete a work in 20 days, 15 days, 12 days respectively. B and
C start the work and they worked for 3 days and left. Then the number of days required by
A to finish the remaining work is

A, B, C 20 GG 28 DA D™ 20 Sare, 15 e, 12 Fared® o

Sabded B D0 C & O aAncdeod 3 Slaren D TN, DY H5O VT A,
DADH DIV A L@ DS DY H'ere Dowg
(1) 11 (2) 14 3) 12 4 9

If the length of the hypotenuse of right angled isosceles triangle is 12 cm, then the area of
that triangle, in square centimeters, is
28 wous; Tagerdy (Bibzo Y S8y PEPY 12 Vo.d vwd, © (Behuo

STego BE8L) o eSS
(1) 72 (2) 36 (3) 144 (4) 24

If the lengths of the diagonals of a rhombus are 18 ¢cm and 24 ¢m, then the area of the
rhombus, in square centimeters, is

a8 U SHGyzo abE) Sfwe TEPYw 18 oD DO 24 Wo.d. vwd, v T
Sébhdyzo abE) JTego, SEEY Do.d. vt
(1) 108 (2) 225 (3) 432 (4) 216

A cylindrical bar of height Imetre and base radius 0.75 metres is melted and cast as a
sphere. Then the diameter of that sphere in metres is
28 Dy 56 ¥ AP 1 DG DO o) ZH° TgEEW 0.75 DO, A

E0N0W 2.¥ o D% DS, ohyd u i'do abE) 7GR0, DOYS®
(1) 2 (2) 1.5 (3) 0.75 (4) 0.50

Two boxes have square bases. The sides of these bases are in the ratio 2 : 1. If the heights
of the boxes are in the ratio 1 : 2 respectively, then the ratio of the volumes of the boxes in
that order is

wgrdo Whd|drstdormr KOAY Tod WBw sImw. & sgrory gherew 2 : |

ARNIS® Gomaw. BPo Aheo BBV 1:2 KNBE* 408, v BB Pd Vorere
AN, oF (od®
(1 1:1 Y 1:2 (3) 3:1 (4) 2:1

18
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106.

107.

108.

109.

110.

The radius of a cone is 3 times the radius of a cylinder and their heights are same. Then
the ratio of their volumes in that order is

28 oy dE) dgwgo, 8 o rgegTos firth Sdn ¢obd. T8 b
hmrhorm aamyon. ey e 90 VoLrErY JNS, o3 (ERod’

(1) 9:1 2) 1:3 (3) 3:1 @ 1:9

A window is in the shape of a rectangle surmounted by a semicircle. If the length of the
rectangle 1s 6 feet and the radius of the semicircle is 2 feet, then the area of the window, in
square feet, is

2% 388 Gb¥) usto, 8 BY BEBEOW 28 vFn)go Qo bt dob. ¢ &Y
S&HGR0 FEY 6 Bibes ool sg)do g8 2 esdhive) Bad, » 8688 )
Sego, BEGY) wbhbod®

(1) 18 +4x (2) 24 +4n (3) 24+2n (4) 18+ 2n

11 cubic metres of steel is cast into cylindrical bars of diameter 10 cms and length
1.4 metres. Then the number of such bars that can be cast with the given metal is

: _22
(I‘aken— 7)

11 b DHod &% 10 Dod. avgho DO 14 Doy FEY HONS grarstd
SGeom FETTE. © a0 Sirod® SSSDRONS vtrdod $§e Lowg

(n=¥mé}’m§‘od)
(1) 10 (2) 100 (3) 1000 (4) 10000

The difference between the largest 3 digit natural number x satisfying x = 5 (mod 8) and
the smallest 3 digit natural number y satisfying y =2 (mod 3) 1s

x= 5 (mod 8) D Sy LT H0G $wreh G808 Vredoygs. y =2 (mod 5) O & YT
E3% Sarch @oSe e Lowg8 g e Pdo

(1) 895 (2) 0 3) 1 (4) 995

If 3% = x (mod 10) and if 0 £ x <9, thenx =
398 = x (mod 10) 00 0 < x S 9 WS, WP x=

(n 1 2) 3 B) 3 4 9

19 P.T.0.
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Algebraic and Geometric Ability (Marks : 30)

If p and q are two statements, then which one of the following is a tautology ?
P, 4 & Both Dhdarod, 800 S*EE° 20 Jdg Vego ?

(1) pv(~p) (2) pa(-9 (3) p)agq 4 prgq
Which of the following is equivalent to the statement P — Q ?
(808 58S B P = Q 63 (PHITIE Hego ?

(1) PAQ 2) PvQ 3 ~PvQ . 4 ~QvP
Set A has 5 elements and set B has 10 elements. Then the possible maximum number of

clementsin AuBis
2.8 208 A &° 5 Grostw, 28 B & 10 restw 08 A U B 0D8S° Hogom

GOG Qrus Y Vowg

(1) (2) 10 3) 15 (4) 50

Let A be a non-emply set and P(A) be the power set of A. Let R be a relation defined on
P(A)by XRY = Xc YV X,Y € P(A). ThenR is not

A 28 HrdgdS LB, A GbE), 8 1B P(A). W8 P(A) D 28 Dowogo R J (8

X.Y € P(A), XRY > X g Y ™ QDR Lowoio R ($0850E° Q8 7% 2

(1) an antisymmetric relation (2) a transitive relation

2.8 [LAIUD (antisymmetric) VOO0 2.8 Lo(ED Lowogo
(3) asymmetric relation (4) areflexive relation

2.8 TVED Vowogo 2.8 DOTHYN Lowogio

If a function {: R = R is defined by f(x) = x* + 1, then f-'(26) =
2% [Ladabo f:R >R fix) =22+ 1 > Qg0 £1(26) =

(1) the empty set, @&3‘@&)}8 (2) {\/%. -\ﬁg}

(3) {5, -5} 4) {0}

If a line passes through the points (3, -5) and (-2, 7), then its x-intercept is

(3,-5), (-2, 7) LobPu thoae D VT ¥, x-60dS Podiy
-5 12 11 11

My = @ 1 .0 35 @ 5

The length of the intercept made by the line which passes through the points (2, 5) and
(-4, 8) between the coordinate axes is
(2, 5) (4, 8) DodPe oae VG VT Ards e W BV wosY wodo

P&y
(1) 1245 S (2) 1243 3) 65 @ 63

s Ssin®-3cos
If 0 lies in the first quadrant and 5 tan = 4, then "= o757 0™ =
SsinB-3cosB

sin@+2cos®

0 3 FSoSD Eo OG5 tan 6 = 4 NS

1 2 3 5
M 1 @ 12 3) 12 @ 13

20
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119.

120.

121.

122.

123.

124.

25.

I£0 + ¢ =3, then (1 + tan 0) (1 + tan ¢) =

0+¢=7 wavd (1 i tan0) (! +tan0) =

1 - @) 0 @) 1 4) 2
(cos?15° - cos?75°) (sin 65° - cos 35° — cos 65° - sin 35°) =

1 | 3 | 3
m 3 (2) 521: (3) 3 @ %:

Two poles of height 15 metres and 30 metres stand upright on a play ground. If the feet of
the poles are 36 metres apart, the distance between their tops are

15 &, 00t 30 . 2 e Totb Poyres §B2rE LOWON™ I, © YOFTU
Frare g Grdo 36 DS o8 v g &rdo
(1) 35 metres /&>, (2) 37 metres /ab.(3) 39 metres /&, (4) 41 metres /.

If the polynomial

ad +b + 3% -4x -4

is divisible by (x* — 1) then (a, b) =

ad + by + 32— dx -4 03 WIH (¥ - 1) I JAydone e NONGS (3, b) =

M 42 2) (1,49 3 L9 4 2-9

If (x - a) and (x — ) are the factors of the polynomial f(x) = ax? + bx + c, then the

quadratic polynomial whose factors are (x - ‘:'l') and (x - '[l;) is

flx) = ax? + bx + ¢ IVLOSE (x-a),(x—B)ws'dwoswcmé. (x—").(x-—l)
scEerostea Ho é{.\s WRTTRRD
(1) c®-br+a (2) cxl+bx+a (3) e’+bx-a (4) cx’-bx-a

I£63 x 65 % 67 x 69 is divided by 12 then the remainder obtained is
63 x 65 x 67 x 69 &3 Lowgd 12 B Yy B Fo

mn 9 2 7 3 5 4 3

A polynomial in x leaves remainders 8, 4 when divided by (x + 2) and (x — 2) respectively.
If the same polynomial is divided by x* — 4 then the remainder is
% Hn00D (x + 2) DOak (x — 2) oF AR B e BBV 8 oA 4 BoNa

&3 200D (P - 4) 3 AR ST Fo
(H 12 2) x+10 (3) 6-x (4) 32
21 . P.T.O.
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If x+ty=12
y+2z=20and
z+x=18

then x-y+2z=

x+y=12

y+2z=20

z+x=18
owWa x-y+z=

(1) 25 (2) 18 (3) 11 ' 4) 7

A person has a certain number of two rupees coins and some five rupees coins. If the total
number of coins is 16 and the value of all the coins is ¥ 50, then the number by which the
number of two rupees coins exceed the number of five rupees coins is

a8 Hg8 DS §') Too Graraby Srare, Wi §Q) § drdrdbe Srarw G, 9S

5 aR) ddo srere Vowg 16, T8 o Deod 50 Srrober wand, ok
Graraby Srere Vowg 5 drarabe e Dowg SI%) Qo JEND ?
(1 s (2) 6 (3) 4 4 2

2
If the first and the sixth terms of a geometric progression are 3 and 162 respectively then
the 8" term of that progression is
2
28 106 (A3 S0 I, BEd Darw DEHV 3, 162 wand ¢ (FGS 8D o
(1) 324 (2) 729 (3) 1084 (4) 1458
Three numbers are in an arithmetic progression. Their sum is 3. The third number is

greater than the first number by 16. Then the product of those three numbers is
fardh Dowges woSHES” aTmay. &8 Bdo 3. Wrdd Jowg B Dowg EI)

16 8RS owd, ¥ vk $oSu VYo
(1) -63 (2) -36 (3) 12 (4) 24

The term independent of x in the expansion of

4 8
(3.1r3 - ‘;) is

4\8
(3x3 - ;) DoBes® Lo Wiso (x T o)
(1) 24x3x7? (2) 22x3¥x72 (3) 2Mx3%x7 4 22x3%x7
If P is the sum of odd terms and Q is the sum of even terms in the expansion of (x + y)°,

then P2 - Q2=
(x + y)" DRGSR WL Dare o P, 00 Darw dwdo Q vwd P2-Q*=

(1) -y 2) -y (3 x+y™ 4 @-y"
22
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132.

133.

134,

135.

136.

137.

4 00
lfAisan3.squaremam'xandifAAde‘—[0 4 0].thcndet(2A)=
00 4
4 00 '
AaS3x3Wres, AAdA=| 0 4 0 | thendet (2A) =
0 0 4
(1) 4 (2) 32 (3) 8 (4) 64
lim X -3x-10
x5 x2-Tx+ 10
; 7 -3 ;
(1) 3 2) 0 (3) s (4) doces not exist
’ f.')g‘é).‘géo 5%
Ifx=t—':',y=t+':'wherctisaparameterthen%xx=
s Wil v dy
x=1- l,y—Htedibgeog.y t 2.5 Dovd wwd s
X Y =X Y
(1) y 2 3 (3) y @

If A is a square matrix and A" denotes its transpose then the matrix A - AT is always
A 2.8 SAOR (@8, o anEy, Dgdgaho AT wand B8 A - AT ey

(1) asymmetric matrix (2) askew symmetric matnx

.8 é:-"é:b ares oS0, a8 sé‘gb (85 Yol
(3) an orthogonal matrix (4) anull matrix

a8 wdoow W88 vHdhod. o8 g S |@f udod

When a piece of wire is bent in the form of an equilateral triangle, then the area of that
triangle 1s 121\/3 cm?. 1f the same wire is bent in the form of a circle, then the area of that

circle, in square centimeters, is (takc x = 2.72')

28 88 WD Verdw |8z Erdod doURd o ([Bgbe Frrege
12143 S0l of B o8 B0 Erdod® Hodd, ¢ 58 Srego, WEEY
Rotthegs’. (=2 m sustos)

(1) 2585 (2) 346.5 (3) 3645 (4) 3855

The sum of all the internal angles of a regular hexagon, in radians, is

2.8 (5 ix‘bt)a!:‘:‘&) w08y o o, TAAHRS®
(1) 2= (2) 4n (3) 3n (4) 5=

23 P.T.0.
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. If two circles of radii, 7 em and 10 cm respectively touch each other internally, then the

distance beiween their centres. in centimeters, is

7 W0 33U 10 0., Frggrw Hu Bod Dyerw voddonr U)BoH%oH, 8
Somre &g Srdo, Roddedd®

() 17 (2) 3 (3) -3 4 5

If the mid points of the sides AB and AC of a triangle ABC are (4, -2), (-8, 14)

respectively, then the length of the side BC, in units, is
2.8 |@2bz0 ABC &° AB, AC ghare 2S¢ Doiyes SBUM (4, -2), (-8, 14) wawd

ghzio BC GhE) dD), ahrddd?
(1) 20 2) 20 (3) 40 | 4) 60

The distance between the lines
% 9 §'= | and 8x + Oy = 5 in units, is
T+5= 1900k 8+ 6y =5 1EBpe Disg &rdo, K dbE*
9 = B 19 19
(1) 5 (2) 10 (3) 5 (4) 10
Statistical Ability (Marks : 10)

The mean of 6 observations is calculated as 24 and later it was noted that one of the
observations i1s wrongly taken as 24 instead of —-24, then the correct mean is
6 VORCHY wo¥ WSgEN 24 m AdoN S$hird 8S* ¥ VORWED -24 &

e 24 o SHym SED LM KID, ¢ VO wo¥ W0
(1) 40 (2) 32 (3) 24 (4) 16
The median of 15 observations is 32. Each of the observations greater than the median are

increased by 8 and cach of the observations less than the median are decreased by 6. Then
the median of the new data is

15 LO3ede ggrdo 32. DPgriSo Sv) M Gy (D8 VOFUAD § LOIG.
205" wEgHEo vy M 4% (DS VoD Wod 6 BVIY, FY Serorns
z’mdgt‘iéo

(1) 46 2 18 - (3) 32 (4) 40

The mode of the following distribution :
10,13, 16,13, 19,24, 13,9, 24, 13,26 is
(508 JzraEinw

10, 13,16, 13, 19, 24, 13, 9, 24, 13, 26 8 erHovsD
(1) 26 (2) 17 (3) 13 4 9

It the standard deviation of the first n natural numbers is t then 12¢2 + 1=
snde n Vire Dowgy (S NBevo t wond 122 + 1=

(1) n*-1 (2) n? 3) n?+1 (4) n?+2

24



38LA-61 A

145.

146.

147.

148.

149.

150.

If the standard deviation of a variable x is 12 then the variance of the vaniable 2x + 17 is
2.8 B3 x GHEY (E Ao 12 swd Suor? 2x + 17 ¥y (3D e

(1) 24 (2) 288 (3) 576 - (4) 41

If 3 coins are tossed, then the probability of getting at least 2 heads is
S e U HHEITY EX00 Todh STmes DT Vozrngd

o0 |'w

()

e

1
M 3 @ 3 ®)

When 2 unbiased dice are thrown, then probability that they show up different numbers is
Sod dar;)88 FDEUD E'00WsYDH 8w QB Vowg oPRGTIS ORI E
11 5 25

M 3 @ 3 ® 2 @ %

In a bivariate distribution X, Y, i =1, 2,....,, 8, if d; is the deviation between the ranks of
X;and Y, and ‘él diz = 21 then the coefficient of rank correlation between X and Y, is

€ 8eS8 Dgredo X, Y, i=1,2,...., 8 €° X; 0ah Y, G E'de Dugg a0 d,
s, ié‘.l diz =21 sard, X, D0 Y; & g 7 Ve Lowod Lo

(1) 025 (2) 050 (3) 0.65 (4) 0.5

If 5 boys and 4 girls sit in a row at random then the probability that boys and girls sit
alternately is

5 H 200 e, Heathth wrddes o8 HHLS* dréa@ogom o8 wrwd, wrdiw
dsrod8on (250 EHhard wEB) oHeS Dogrigd

] 1 1 ]
) & @ T3 3) T30 @ &

When a leap vear is selected at random then the probability that it has cxactly 52 Sundays
is

28 &Y Voddyordy abg)yysom QHHoE ¢ VodS ot pRdon 52

ool S ‘boz,r%é
2 5 | 6
I 3 @ 3 3 3 @ 3

25 P.T.0.
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SECTION -C
Communication Ability

Questions : 50 Marks : 50
PART -1

Choose the correct answer :
151. A situation in which goods or shares are plentiful and buyers can keep prices down is

called
(1) abuyout (2) abuyer’s market
(3) abusiness proposition (4) abusiness deal

152. A difference in wages between industries or between categories of employees in the same
industry is referred to as
(1) differential (2) differential equation
(3) differential calculus (4) differentiate

153. A large corporation formed by the merging of separate firms is known as a
(1) congregation (2) conglomeration
(3) conclave (4) consul

154. Celebrities who endorse a product are referred to as
(1) Brand Managers (2) Brand Ambassadors
(3) Super Models (4) Glamour Kings

155. Stocks, shares and bonds are collectively known as
(1) Cumulative preference shares (2) Dividends
(3) Securities (4) Equalities

156. A computer language that is used for creating websites is known as
(1)  X-files (2) XML
(3) XL (4) X-certificate

157. Connection of networks that can be joined together is possible through
(1) Intranet (2) Extranet
(3) Virtual private network (4) Internet

158. ISDN stands for
(1) Integrated Services Digital Network
(2) Integrated Subscribers Digital Network
(3) International Services Developers Network
(4) Integrated Services Developers Network

159. ELD stands for
(1) Electric Lamination Display (2) Energy Luminiscent Display
(3) Electro Luminiscent Display (4) Energy Lubrication Display

160. The connection between a computer and another piece of equipment is
(1) parallel processing (2) parallel bar
(3) parallel port (4) parallclism

26
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PART -2
Choose the Correct Answer,
161. A: *“How is your business ?"
B: “I'mbroke!”
B’s answer indicates that
(1) he has taken a break (2) heis heart-broken
(3) e has suffered heavy loss (4) he has broken a record

162. A: *You should not have spoken so harshly to him. You know that the fault was yours.”
B: “Iknow. I'll have to eat humble pie.”
‘B" implies that he has to
(1) eato forget (2) atone
(3) apologise (4) forgive himself

163. A: “Ihave two tickets for the movie tomorrow. Will you come with me ?”
B: "Could you invite someone else ? Movies give me a headache.”

‘B’ is
(1) (2) busy
(3) not A’s friend (4) not interested in movies

164. *I don’t think his jokes ever come off.”
The speaker implies that the jokes were
(1) unsuccessful (2) brilliant
(3) uninspiring (4) unwelcome

165. The passive form of the sentence “They are not going to play the match today™ 1s
(1) The match is not going to be played today.
(2) The match was not played today.
(3) The match had not been played today.
(4) The match cannot be played today.

166. A: *“I'msorry I couldn’t come to your party as | was out of town.”
B: *“It’s alright. Don’t worry about it”,
In this conversation, the speaker “B” is
(1) indifferent (2) disinterested
(3) understanding (4) critical

167. “When it comes to grammar, she’s really on the ball.”

The speaker implies that
(1) she knows a lot about grammar  (2) she’s bad at grammar
(3) she's lazy (4) she doesn’t like grammar

27 P.T.O.
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Fill in the blanks with the appropriate phrase/verb/preposition.
168. A: “Are you going to the bank today ?”

B: *“No.I've already to the bank.”
(1) been* (2 gone
(3) went (4) made
169. 1 hope the enquiry will the truth,
(1) get behind (2) getat
(3) getbhy (4) get away with
170. The workers ~ their resignation when their demands were not met by the
Managing Committee. )
(1) gavein (2) gaveup
(3) called off (4) tookin -
171. Here is the watch that you asked .
(1) for (2) with
(3) by (4) on
172. The loan will be repaid two months.
(1) by (2) from
(3) for (4) in
173. It raining for a while, but now it’s raining again.
(1) finished (2) stopped
(3) is (4) goes
174. They are ~ the whole family for Christmas.
(1) brnnging over (2) bringing about
(3y bringing up (4) taking up
175. A subordinate has to abide the decisions of his superiors.
(1) with (2) in
(3) by (4) upon
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176.

177.

178.

179.

180.

181.

PART-3
Read the following passage and answer questions 176-180 :

In times of social fragmentation, vulgarity often becomes a way of life. To be
shocking becomes more important than to be civil or creative or truly original. Given the
degree of vulgarity in our society, cynicism seems almost irresistible. But cynicism
represents a secession from society, a dissolution of the bonds between people and
families and communities, an indifference to the fate of anything, beyond the self
Cynicism is deadly. It bites everything it can reach-like a dog with a foot caught in a trap.
And then it devours itself. It drains us of the will to improve; it diminishes our public
spirit; it saps our inventiveness; it withers our souls. Cynics often see themselves as
merely being world-weary. There is no new thing under the sun, the cynics say. They
claim their weariness is wisdom. But it is usually mere posturing . Their weariness seems
to be most effective when they consider the aspirations of those beneath them, who have
neither power nor influence nor wealth. For these unfortunates, nothing can be done, the
cynics declare. Hope is considered an affront to rationality : the notion that the individual
has a responsibility for the community is considered a dangerous radicalism. Ultimately,
however, the life of a cynic is lonely and self-destructive. It is our human nature to make
connections with other human beings. The gift of sympathy for one another is one of the
most powerful sentiments we ever feel. If we do not have it, we are not human. Indeed it is
so powerful that the cynic who denies it goes to war with himself,

What is considered normal in today’s society ?

(1) creativity (2) courtesy
(3) alack of good taste (4) bad habits
What have divisions in society led to ?

(1) sanity

(2) rationality
(3) depression
(4) abelief that people always act from selfish motives -

Why is cynicism dangerous ?

(1) It leads to weariness (2 Itis self-destructive
(3) It kills our creativity (4) Itisregressive
What characterizes the behaviour of a cynic ?

(B~ Affectation (2) Humility

(3) Generosity (4) Foolishness

What quality makes us human ?

(1} Genuine concern for others (2) Quest for power

(3) Quest for money (4) A radical attitude

Read the following passage and answer questions 181-185 :

Production may not be a dominant ideological leverage in economic decision
making, but it cannot be altogether dismissed from economic calculations at whatever
level. The difference that globalization has brought about is not that it has made
production concerns immaterial, but that the leading factor is now the consumer and
production must do what it can to meet the demands of the market. So every now and
again, one comes up against serious production problems at the national level which are
resolved at the global level by importing skills or machinery. Thus while it is true that
consumer tastes are getting more homogenized across the world, production facilitics have
not kept up. Economic difficulties at the national level arise from this mismatch.

What cannot be kept out of economic calculations ?
(1 Ideology (2) Decision making
(3) Market demand (4r Production
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What is the most prominent consideration today ?

()  The consumer (2) The economy

(3) Production (4) Globalisation

Which word does the writer use to describe buyer’s tastes ?

(1) Immatenal (2) Mismatch

(3) Homogenised~ (4) Ideological

What has caused the change in approach to economic decision-making ?
(B Consumer tastes (2) Globalisation

(3) Imported machinery (4) Production problems

At the national level, what is the effect of the discrepancy between production and demand ?
(1) Importing skills becomes necessary

(2¥ Production problems need to be addressed

(3) Demands of the consumer call for urgent steps

(4) Economic difficulties arise in the process

Read the following passage and answer questions 186 - 190 :

The land in Egypt is very fertile when it is irrigated, and water for irrigation has to
come mainly from the one big river which Egypt has, namely, the Nile. Therefore, most of
the farming is done near this river. As the Nile nears the sea, it splits into several branches
to form a delta. The land here is very flat; ploughing and irrigation are casy and it is,
therefore, the most highly cultivated arca. Further inland, away from the sea, only the
strips of land on either side of the niver are cultivated, There are, of course, a few
irrigation projects and model farms, but a large proportion of the Egyptian countryside
remains a dry, sandy desert. In the delta, the main crops are cotton, rice, fruit such as
banana, dates, figs and melons, and vegetables. Cattle, buffalo, and goats are also kept for
milk and meat. Further inland, however, where the land is not so flat, and water is scarce,
the cultivation is less intense; in this part of the country, there is a scarcity of fresh food,
such as fruit and vegetables, because there is not enough water to grow it. Sugarcane and
wheat are the main crops here. In the huge, barren deserts, there are wandering herdsmen
who keep goats and camels. Thus it is clear that vast areas of land are lying unused at
present only because of the lack of irrigation. The country can double its production if the
iurrigation projects multiply.

What is the meaning of ‘irrigation’ ?

(1) To build dams (2) To supply land with water

(3) To construct canals (4) To cultivate land

What does the Nile form when it reaches the sea ?

(1) A triangular alluvial tract (2) Anisland

(3) A lake (4) A tributary

What are cultivated towards the interior of the city ?

(1) Bananas and dates” (2) Sugarcane and wheat

(3) Cotton and rice (4) Vegetables and fruits

Who are the ‘wandering herdsmen’ ?

(1) Men with no homes (2) Men who roam with their livestock

(3 Men who tend goats and cattle~ (4) Men who live in the desert

How can agricultural production be increased in Egypt ?
(1) By cultivating all the land

(2) By introducing new crops

(3) By making water available to uncultivated lands
(4) By growing more fruits
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PART -4
Choose the correct meaning for the word given :
bulwark
(1) freedom (2) protection
(3) shipment (4) bundle
cower
(1) desert (2) timid
(3) hide (4) run
plebiscite
(1) statement of loyalty (2) promoter of monarchy
(3) countrywide vote (4) political analyst
bizarre
(1) Dbreezy (2) depressing
(3) very strange (4) Dbright
Platitude
(1) common place (2) plateau
(3) extraordinary (4) misleading
feign
(1) faint (2) fill
(3) feel (4) pretend
Fill in the blank choosing the correct word :
Conspirators were satirically called men.
(1) honourable (2) wicked
(3) lazy (4) active
The of information in the organization will be given high priority.
(1) dissemination (2) dissipation
(3) distortion (4) disbursement
Bitter experiences make us though wiser.
(1) better (2) fortunate
(3) sadder (4) obvious
The of the flowers enhanced the beauty of the garden.
(1) fragrance (2) odour
(3) smell (4) aroma
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